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(Total 40 Marks) 

 

 

,UgJ (20) fl;lha tpdhf;fs; 
(nkhj;jk; 40 Gs;spfs;) 

 
tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 
  

1.1 (2)  

1.2 (3)  

1.3 (2)  

1.4 (1)  

1.5 (1) 

1.6 (2)  

1.7 (3)  

1.8 (2)  

1.9  (1) 

1.10  (4)  

1.11 rupahdJ 

1.12 jtwhdJ 

1.13 jtwhdJ 

1.14 rupahdJ 

1.15 jtwhdJ 

1.16 1. fhNrhiyfs; itg;gpyplg;gl;lJ Mdhy; Njwtpy;iy (t#ypf;fg;glhj 
fhNrhiyfs;) 

2. fhNrhiyfs; toq;fg;gl;ld Mdhy; nfhLg;gdTf;F rku;gpf;fg;gltpy;iy 
(rku;gpf;fg;glhj fhNrhiyfs;)  

 
 
 

  
 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk;  I guPl;ir – [_iy 2025 

(101) epjpf; fzf;fPL 

gupe;Jiuf;fg;gl;l tpilfs; 

 gFjp  - A 
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1.17 

 
 
1.18 

1. fhR ngWtdT 
2. nfhs;tdT gl;bay; 

 
1.19 

• epWtdj;jpw;Fs; Ra Cf;fk; nfhz;l jpUg;jpfukhd Copau;fis cUthf;Fjy;.  

• jpUg;jpfukhd thbf;ifahsu;fis cUthf;Fjy;. 

• tzpfj;jpw;Fk; mf;fiw nfhz;l jug;gpdUf;Fk; ,ilNa rpwe;j ed;ik 
gaf;Fk; tzpf cwit cUthf;Fjy;  

• tzpfj;ij NeubahfNth my;yJ kiwKfkhfNth ghjpf;Fk; tpjpfs; kw;Wk; 
xOq;FKiwikfSf;Fs; nray;gLj;Jtjw;fhd rhj;jpaf;$W kw;Wk; tpjpfs; 
kw;Wk; xOq;FKiwikfSf;F mg;ghy; gzpGupAk; NghJ Njitaw;w rpf;fy;fs; 
kw;Wk; Rikfisj; jtpu;f;fyhk;  

• rpwe;j eilKiwfs; %yk; ed;kjpg;G> tpahghu ehk tpopg;Gzu;it> 
cUthf;fTk; tsu;f;fTk;  

• Njitaw;w tzpf nryTfis Fiwj;jy; 

• tzpfj;jpd; njhlu;e;jpaq;Fk; jd;ik kw;Wk; guhkupg;G kw;Wk; yhgj;jpd; 
tsu;r;rpf;Fk; ,ilA+W Vw;glhky; ghu;j;Jf; nfhs;sy;  

(,uz;L fhuzq;fis kl;Lk; vjpu;ghu;f;f KbAk;) 
 
1.20  

• fzf;fpay; gjpTfs; rPuhf jahupf;fg;gLk; NghJ fzf;fpay; gjpTfis 
nghJthf Vw;Wf;nfhs;s $ba Kiwapy; toq;f KbAk;  

• fzf;fpay; gjpTfspy; toq;fg;gLk; jfty;fis gad;gLj;JNthu; vspjhf 
Gupe;J nfhs;tJ  

• rupahd KbTfis vLg;gjw;fhf fzf;fpay; gjpTfspd; ek;gfj;jd;ikia 
Nkk;gLj;jy;  

• xt;nthU tzpfKk; xU nghJthd mbg;gilia gad;gLj;Jtjhy; xg;gPl;il 
Vw;gLj;j KbAk;  

• ,J epjpepiy mwpf;iffis jahupg;gjw;fhd topfhl;Ljiy toq;FfpwJ   
(,uz;L fhuzq;fis kl;Lk; vjpu;ghu;f;f KbAk;) 

 
(xt;nthd;Wf;Fk; 02 Gs;spfs;> nkhj;jk; 40 Gs;spfs;) 

 

mbg;gil  eilKiw nrhj;Jf;fs;  eilKiway;yh nrhj;Jf;fs; 

tiutpyf;fzk; 
vjpu;tUk; 12 khj fhyj;jpw;Fs; 
gad;gLj;jf;$ba my;yJ fhrhf 
khw;wf;$ba nrhj;j;Jf;fs;  

12 khjfhyj;jpw;F Nkyjpfkhf 
nghUshjhu ed;ikfis toq;f $ba 
nrhj;Jf;fs;  

fhy mstpil  FWfpa fhyk; (≤ 1 tUlk;) ePz;l fhyk; (> 1 tUlk;) 

cjhuzq;fs;  
fhR 
,Ug;G  
tpahghu tUkjpfs; 

fhzp 
cgfuzq;fs; 
ePz;lfhy KjyPLfs; 

gFjp – A  epiwT 
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 ehd;F fl;lha tpdhf;fs; 
 (nkhj;jk; 40 Gs;spfs;) 

 

tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs ;::  
 

mj;jpahak; 4 - gFjp II - cw;gj;jp fpuak; $w;Wfs;    
 
uh[ul;l $iu epWtdj;jpd; khu;r; 31> 2025 ,y; Kbtile;j Mz;bw;fhz cw;gj;jp 

fpua $w;W / cw;gj;jp fzf;F 

    &gh. ‘000 

Neub nghUs; fpuak;        

%yg;nghUs; - Muk;g  ,Ug;G                      150    

(+)  %yg;nghUs; - nfhs;tdT                5,250    

cl;nfhz;Ltuy; fpuak;                        250    

Efug;gl;l  nghUl;fspd; tpiy                5,650    

fop: ,Wjp %yg;nghUs; ,Ug;G                  (80)   

Efug;gl;l %yg;nghUl;fspd; fpuak;                 5,570  

     

Neub $yp  1,900                 

njhopyhsu; Cf;fj;njhif (5*200,000) 1,000 2,900 

  8,470 

(+) Muk;g - Fiw Ntiy 180  

(-)  ,Wjp - Fiw Ntiy (160) 20 

Kjd;ik fpuak;    8,490               

jz;zPu; fl;lzk; (250 x 90%) 225    

kpd;rhu nryT (740x 60%) 444                      

thlif  (600 x 75%) 450  

,ae;jpu jpUj;jq;fs;  80  

njhopw;rhiy ghJfhg;G fl;lzk;  360                      

Nja;khdk;  - Nkhl;lhu;  nyhwp    540  

Nja;khdk; - Mjdk; & ,ae;jpuq;fs; 200                     2,299 

nkhj;j cw;gj;jp fpuak;                  10,789  

,yhg vy;iy 18%   1942.02 

fpuak; tpahghu fzf;fpw;F khw;wg;gl;lJ           12731.02  
 

(nkhj;jk; 10 Gs;spfs;);  

  

gpupT - B 
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tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 

mj;jpahak; 3 - Kjd;ik VLfs;> fl;Lg;ghl;L fzf;Ffs; kw;Wk; gupl;ir kPjp 

 
31 khu;r; 2025 ,y; cs;stuhd up];dp; l;uNlu;];pd; gupl;ir kPjp 

  (&gh.’000) 

tpguk; tuT. nryT. 

%yjdk;              2,500  

tpw;gid (4800+5800) (nr1)            10,600  

nfhs;tdT  (2850+4750) (nr 2)            7,600    

Nghf;Ftuj;J               7.5   

vOJnghUs;                 12.5    

jw;fhypf $yp  55  

Nkhl;lhu; thfdk; 3,200    

Nkhl;lhu; thfd Nja;khdk;  (3,200,000 × 20% × 1/4)  160    

Nkhl;lhu; thfd jpuz;l Nja;khdk;                  160  

rk;gsk; kw;Wk; $yp                800    

mYtyf thlif                400    

epiyahd itg;G                500    

epiyahd itg;G  tl;b tUkhdk; (500 x 10% x ½)  25 

epiyahd itg;G ngwNtz;ba tl;b tUkhdk;  25  

njhiyg;Ngrp kw;Wk; ,iza fl;lzk;  (300+15)               315    

kpd;rhu  kw;Wk; jz;zPu; fl;lzk;               400    

tpsk;gu nryT   120  

nrYj;jNtz;ba njhiyg;Ngrp kw;Wk; ,iza 
fl;lzk;                      15  

tpahghu tUkhjpahsu;            1,900    

Tpahghu nrd;kjpahsu;                2,500  

gzk; 230    

rpy;yiw gzk; (150-7.5-12.5-55) 75  

           15,800          15,800  

 
nr1      

tuT.        tpahghu tUkhjpahsu; nryT. 

tpw;gid   5,800 gzk;  3,900 

   B/C/F  1,900 

  
5,800    5,800 

B/B/D  2400    
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nr 2 

tuT.         tpahghu nrd;kjpahsu;   nryT. 

gzk;   2,250 nfhs;tdT  4,750 

B/C/F  2,500     

  
4,750    4,750 

   
B/B/D  2,500 

 (10 Gs;spfs;);  

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;:  

mj;jpahak; 3 - Kjd;ik VLfs;> fl;Lg;ghl;L fzf;Ffs; kw;Wk; gupl;ir kPjp     
 

 
(a) nghJ ehl; Fwpg;NgL 

,y  tpguk; tuT nryT 

1 mYtyf cgfuzq;fs; fzf;F 60,000   
  nfhs;tdT fzf;F   60,000 

  

 (jtwhf nfhs;tdtpy; gjpag;gl;l mYtyf cgfuzk; 
jpUj;jg;gl;lJ )     

    
  Nja;khdk; nryT  fzf;F 15,000   
  jpuz;l Nja;khdk; fzf;F   15,000 

  

(Mz;Lf;fhd mYtyf cgfuz ngWkhd Nja;T 
gjpag;gl;lJ)     

2 nfhs;tdT fzf;F 4,000   
   njhq;fy; fzf;F   4,000 

  (jtwtplg;gll fhR nfhs;tdT gjpag;gl;lJ)     

3 thlif nryT fzf;F 15,000   
  thlif tUkhd fzf;F 15,000   
  njhq;fy; fzf;F   30,000 

  

(thlif tUkhd fzf;fpy; jtwhf nrytplg;gl;l 
thlif nryT jpUj;jg;gl;lJ)     

4 nrYj;jNtz;ba njhiyg;Ngrp fl;lzk; fzf;F 6,000   
  njhiyg;Ngrp fl;lzk; fzf;F   6,000 

  

(VLfspy; ,U Kiw gjpag;gl;l njhiyg;Ngrp fl;lzk; 

jpUj;jg;gl;lJ)     

5 nrd;kjpahsu; fzf;F 14,500   
  nfhs;tdT fzf;F   14,500 

  

(nfhs;tdT ehNsl;by; kpifahf gjpag;gl;lJ 
jpUj;jg;gl;lJ)     

6 njhq;fy; fzf;F 900   
  kpd;rhu nryT fzf;F   900 

  (kpd;rhu nryT kpif jpUj;jg;gl;lJ)     

 (07 Gs;spfs;); 
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(b) 

 tuT. njhq;fy; fzf;F nryT.  

 B/B/F 33,100 nfhs;tdT       4,000  
 kpd;rhu nryT  900 thlif nryT     15,000  

   
thlif tUkhdk;     15,000  

       

   34,000    34,000  

    
     

(03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;);  

tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;:  
 

mj;jpahak; 2 - fzf;fPl;L rkd;ghL> ,ul;il gjpT Kiwik kw;Wk; fzf;fPl;L 
vz;zf;fUf;fs; 

(A) 

  
mYtyf 

cgfuzq;fs; + ,Ug;G   + 
 

tUkhjpahsu; 
 
+ gzk; = cupik + nghWg;Gfs; 

1      +500,000  +500,000   

2 +150,000     -150,000     

3  +80,000        +80,000 

4  -50,000  +70,000    +20,000   

5      -3,000  -3,000   

 

                                                                       (05 Gs;spfs;); 

(B) 
tuT. jpUj;jpa gz fl;Lg;ghl;L fzf;F   nryT. 

B/B/F            26,500  
epiyahd fl;lis - fld; 
jtiz nrYj;Jjy;   

           

15,000  

Neub itg;G           20,000  tq;fp mwtPLfs;   

             

1,000  

tl;b 
tUkhdk;              2,000     

   
B/C/D  

         

32,500  

           48,500     

         

48,500  

B/B/F 
         32,500     

 
(03 Gs;spfs;) 
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(B) 

khu;r; 31> 2025 ,y; cs;stuhd tq;fp fzf;fpzf;f $w;W   

gz Gj;jfj;jpd; gbahd kPjp          32,500  

$l;L:   

RkuG;;gpf;fg;glhj fhNrhiyfs;          15,000  

    

fop:   

t#ypf;fg;glhj fhNrhiyfs;          (5,000) 

tq;fp $w;wpd; gbahd kPjp          42,500  

 
(02 Gs;spfs;) 

 
   (nkhj;jk; 10 Gs;spfs;) 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 gFjp  B KbT 
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tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;:  
 

mj;jpahak; 4 - tUkhd $w;W kw;Wk; epjp epiyik $w;W jahupj;jy; 
 

(a) 

 ehjd; l;Nulu;]; ,d;   
khu;r; 31> 2024 ,y; Kbtile;j Mz;bw;fhd Kw;wlf;f tUkhd $w;W   

   (&gh.’000) 
tpw;gid             119,680  

tpw;gid fpuak;:     

Muk;g ,Ug;G            9,500    

nfhs;tdT          74,500    

           84,000    

,Wjp ,Ug;G          (5,200)         (78,800) 

nkhj;j ,yhgk;             40,880  

   

tpepNahf nryTfs;:   

mwtplKbah fld;fs;                  80    

Ia flDf;fhd xJf;fPL 240  

Nkhl;lhu; thfd Nja;khdk; (nr1)                625                (945) 

   

epu;thf nryTfs;     

fl;bl Nja;khdk;  (nr1) 300                   

jsghl Nja;khdk; (nr1) 800                    

mYtyf nryT  1350                    

gazk; kw;Wk; Nghf;Ftuj;J nryTfs; 
ghJfhg;G fl;lzq;fs; 

1220 

550              

fhg;GWjp (120 x ¼) 30  

guhkupg;G kw;Wk; jpUj;j nryTfs;  900  

Njhiyg;Ngrp kw;Wk; jz;zPu; fl;lzk; 750  

rk;gsk; kw;Wk; $yp 18,400            

kpd;rhuk;   1,280              

fsQ;rpa thlif (1650+150)  1,800                     (27,380) 

   

epjp nryTfs;     

tq;fp fld; tl;b (3000 x 12% x ½)                 180  (180)  

tUlj;jpw;fhd ,yhgk;    12,375  

(12 Gs;spfs;) 

gFjp - C 
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 (08 Gs;spfs;) 
   (nkhj;jk; 20 Gs;spfs;) 

 
 
 

 

 

 
 
 
 
(b) 

ehjd; l;Nulu;]; ,d;   
khu;r; 31> 2025 ,y; Kbtile;j Mz;bw;fhd epjp epiyik $w;W    

    (&gh.’000) 

nrhj;Jf;fs; fpuak;   jpuz;l 
Nja;khdk;.  

  Njwpa 
ngWkjp   

eilKiway;yhj  nrhj;Jf;fs;       

fhzp kw;Wk; fl;blk;                 8,400                        900                 7,500  

Nkhl;lhu; thfdk;                2,500                     1,250                 1,250  

jsghlk;                  4,000                     1,800                2,200 

               14,900                     3,950                 10,950 

eilKiw nrhj;Jf;fs;       

,Ug;G                      5,200    

tpahghu tUkjpfs;  (12080-80-240)                   11,760    

Kd;$l;bNa nrYj;jpa fhg;GWjp                             90   

ifapy; cs;s gzk;                          310                17,360 

nkhj;j nrhj;Jf;fs;                  28,310 

        

cupik kw;Wk; nghWg;Gfs;       

cupik       

Vg;uy; 1> 2024 ,y; %yjdk;                     4,485   

tUlj;jpw;fhd ,yhgk;                    12,375              16,860  

eilKiway;y  nghWg;Gfs;       

tq;fp fld;                       3,000           3,000 

eilKiw nghWg;Gfs;       

tpahghu nrd;kjpfs;                        8,120    

nrd;kjp fsQ;rpa thlif                           150    

tq;fp fld; tl;b nrYj;j Ntz;bait                         180                 8,450 

nkhj;j cupik kw;Wk; nghWg;Gfs;                 28,310 

   
 

(nr1)    Nja;khdk; &  jpuz;l Nja;khdk;   

 Muk;g   kPjp Mz;Lf;fhd Nja;khdk;    ,Wjp  kPjp 

 jpuz;l Nja;khdk;   jpuz;l Nja;khdk; 
fl;blk;  600 6000 x 5% = 300 900 

Nkhl;lhu; thfdk; 625 2500 x 25% = 625 1250 

jsghlk;;  1000 4000 x 20%  = 800 1800 

gpupT C KbT 
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Notice:  

 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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